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J[EXive K 4 NET HDCP TOTAL ouUT I'N QUT NET J[EXive K 4 NET HDCP TOTAL ouT I'N OUT NET
B B Bk AL 70 30 100 ( 50 50 ) 350 B B T f— 66 28 94 (45 49 ) 310
26 BHE —A 70 27 97 (49 48 ) 355 20 kA A 66 16 82 ( 43 39 ) 350
3y FAA B 70 9 79 ( 40 39 ) 355 3 AR % 68 14 82 (39 43 ) 320
4 AR TIE 70 16 86 (45 41 ) 370 4 BT BB 69 14 83 ( 45 38 ) 380
5y A% EE 71 6 77 (41 36 ) 380 Bl BB A 70 25 95 (44 51 ) 315
6y BEE T 71 18 89 (48 41 ) 390 6l sE £ 70 26 96 (45 51 ) 320
T OEEH —R 72 18 90 (43 47 ) 340 e 2@ BEE 70 26 96 ( 46 50 ) 330
8l #E mm 72 30 102 ( 52 50 ) 370 8l ME TH 70 30 100 ( 50 50 ) 350
ofr  eh = 73 7 80 ( 40 40 ) 365 o BIE B 71 25 96 ( 48 48 ) 355
106 #AK shee 73 18 91 (46 45 ) 370 100 E% 8 71 12 83 (43 40 ) 370
114 FE 3A— 73 24 97 (51 46 ) 390 T Bk %2 71 18 89 (48 41 ) 390
1260 BE B 74 16 90 (44 46 ) 360 1267 #mE A 72 22 94 (47 47 ) 360
13 BAS % 74 3 77 ( 40 37 ) 385 130 @M ER 72 15 87 ( 44 43 ) 365
146 KE B 74 22 96 (52 44 ) 410 4R tE1a & 72 20 92 (48 44 ) 380
166 f@3F 1EH 75 22 97 (46 51 ) 350 150 B H 73 12 85 (43 42 ) 370
164 #AK & 75 21 96 (47 49 ) 365 16 REB= 74 20 94 (46 48 ) 360
17 =R BE 75 28 108 ( 52 51 ) 380 176 AE B= 74 16 90 ( 45 45 ) 370
186 AREA KE 75 10 85 (43 42 ) 380 186 WA =AY 74 19 93 (47 46 ) 375
196 A2 &N 76 14 90 (43 47 ) 360 1967 &M@ T 74 26 100 ( 51 49 ) 380
200 R EM 76 14 90 (45 45 ) 380 206 EE H— 74 14 88 (45 43 ) 380
250 I BE 77 24 101 ( 51 50 ) 390 250 HA e 75 18 93 (45 48 ) 360
3067 -H ES 77 30 107 (59 48 ) 440 3067 A% 76 25 101 ( 55 46 ) 425
350 BXR 78 12 90 (45 45 ) 390 35f7 M EE 78 11 89 ( 41 48 ) 355
406 ®3E 79 16 95 (47 48 ) 390 40K A ME 79 15 94 (47 47 ) 395
4561 Bl 3 80 6 86 (41 45 ) 380 4507 A4 # 80 16 96 (46 50 ) 380
5067 k7 3580 80 9 89 (44 45 ) 395 50fr  EE B 80 27 107 ( 55 52 ) 415
60f K% S 82 30 112 ( 54 58 ) 390 60K R FtT 84 23 107 (57 50 ) 455
700 AR = 83 25 108 ( 54 54 ) 415
80f LM 3T 85 22 107 ( 54 53 ) 430
006 P IE 90 5 95 (54 41 ) 515
BBE D % 95 30 125 (63 62 ) 480 BBE FIIE 89 24 113 (80 53 ) 480
BGY A E£& 77 41 3 ) Par 72 A—AL—t  ZAE=TL—+
BEM(E) 6606 vyard 713 128
SEM(E) 6237 vyard 695 123
BEM(£) 5892 vyard 681 119
SEM(%) 5281 vyard 649 114
LZM(%) 5281 vyard 701 123
LZM(FR) 4878 vyard  67.8 119




